SCLICP2-5CCIMP2 | FIEH Jiwata TOHATSU

503
) e
' f“\
el ,:,L Ty ,_,,\‘ HE | BB Wi &
- e /* 5. | RE |RERRER
SISC | AR [LREB(SUSXNT)IE
SUS304 - IENBE(SUSXMT)2
rRE mEMRE SUS304
HE:
ol
S45C
RE RERD SUsS304 B | L | D ekl M
B % | BEE| & % | BEG| = W |BE& S [P.C.D
SC0306CP2| ~ |SC0306MP2| ~ |SC03065P2| ~ 3 6 | 17 | 34 | 11 |AM3x3
SC0406CP2| ~ |SC0406MP2| ~ |SC0406SP2| ~ 4 6 | 18 | 34 | 12 |AM3x3
SC0510CP2| ~ |SC0510MP2| ~ |SC05108P2| ~ 51 10 | 22 | 45 | 15 | 4Maxa
SC0610CP2| ~ |SC0610MP2| ~ |SC0610SP2| ~ 6 | 10 | 22 | 45 | 15 | Maxd
SC0810CP2| - |SC0810MP2| ~ |SC0810SP2| ~ 8 | 10 | 24 | 45 | 17 | wmax4
SC1010CP2| - |SC1010MP2| ~ |[SC10105P2| ~ | 10 | 10 | 26 | 45 | 19 | M4x4
SC1212CP2| - [SCl212MP2| ~ |[SC1212SP2| ~ | 12 | 12 | 32 | 55 | 23 | M5x6
SC1312CP2| - |SC1312MP2| ~ |SC13125P2| ~ | 13 | 12 | 33 | 55 | 24 | M5x6
SC1512CP2 . SC1512MP2| A SC1512SP2 A 15 12 35 55 26 M5x6
SC1612CP2| - |SC1612MP2| ~ |SC1612SP2| ~ | 16 | 12 | 40 | 66 | 28 | M6x6
SC2012CP2 . SC2012MP2| A SC2012SP2 A 20 12 44 6.6 32 M6x6
SC2515CP2| - |SC2515MP2| ~ |SC2515SP2| ~ | 25 | 15 | 50 | 66 | 37 | Msxs
SC3015CP2| ~ |SC3015MP2| ~ |SC30158P2| ~ | 30 | 15 | 5 | 66 | 42 | M8xs
SC3515CP2| ~ |SC3515MP2| ~ |[SC3515SP2| ~ | 35 | 15 | 60 | 66 | 47 | Msx8
SC4020CP2| ~ |SC4020MP2| ~ |SC40205P2| ~ | 40 | 20 | 70 | 9 55 | M10x12
SC5025CP2| ~ |SC5025MP2| ~ |SC5025SP2| ~ | 50 | 25 | 86 | 11 68 | MlOx12
R ge:[ & % | [ ]F -

CWENRIENBMRE—2

SC0306CP2 A



